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x=1:10;
y=[13426738309];
plot(x,y)
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plot (x,v) 3

—pi:pi/l10:pi;
tan(sin(x)) - sin(tani(x));
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ploti(x,v, " '—")
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|5peciﬁer |Line§tyle 2T
- Solid line .
(default)
— Dashed line o)
Dotted line
- Dash-dot line ir
2+
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ploti(x,v,"'——1r")
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RGB Value Short Long Name oL i
Name

[1 1 O] v yellow 1+ \ i
[1 O 1] il macenta
[0 1 1] o Cyan o |
[1 O O] r red 1l |
[O 1 O] u } gresn
[00 1] b blue 2 .
[1 1 1] W white
[0D00] |k black % 3 2 1 0 1 2 3 4
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plot(x,y,"'--r', 'LineWidth"', 4)
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: Plot )9

plot(x,v,'s', "MarkerEdgeColor', 'k")

Specifier Marker Type
3 L L L L L L L
+ Flus sign O
o' Circle 2 U l
I.“.I -
Astensk o 9 g
Point 1~ .
O
= Cross
'square’ or 's’ Square 0r- [ pooooob _ 7
‘diamond or 'd’ Diamond 0
! Upward-pointing triangle 1 i
O O
- : O
W' Downward-pointing triangle
"' Right-paointing triangle 2r = |
<! Left-pointing triangle =
, , . o ) ) _3 r r r r r r r [
pentagram or 'p' | Five-pointed star (pentagram) 4 8 2 1 0 1 2 3 4
‘hexagram or Six-pointed star (hexagram)
Ihl II
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plot(x,v,"--rs', 'LineWidth', 2, '"MarkerEdgeColor', 'k', "MarkerFaceColor', 'g', "MarkerSize', 10)
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xlabel (“ ) X goo cam o
ylabel (* ) LY Joze oz

title(” ) 13905 VL Olgie

grid on + grid off 13905 buzro 03,5 (g0 S

text (x,y, " ) 02> Joe 3 Jldged (590 (e (b gl

gtext(" ) (Uwale L SlS) alg2 U Jomo 13 Ulged (90 (e (il gd

hold on + hold off B ($9) Jdg05 3iz 38,5 )l )3
figure(n) S (50 dudgi 190 pany S 10 N 3 )ledd b poeiy

close (n) + close all D3 g0 )N o )leds o poeiy
axis([xmin xmax ymin ymax]) ploses ojlal 4 Y 9X Olaiseo juusts
legend(” ) 13505 slosdl ) sloul
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clear all
close all 4 4
clc 2} . 2l
¥ = —pi:pi/l10:pi; 0 . ol
Yy = tan(sin(x)) - sin(tan(x)); ) )
subplot (2,2, 1) Y 2 0 2 4 “ 2 0 2 4
plot(x,v,'r', 'LineWidth',4) . .
subplot (2,2, 2)
plot(x,v,"'g', 'LineWidth", 4) ? 2
subplot (2,2, 3) Or ' Or
plot(x,v,'k', 'LineWidth',4) 2f - 2f
subplot (2,2, 4) 4" . . . | 4
-4 -2 0 2 4 -4 2 0 2 4

plot(x,v,'c', 'LineWidth',4)
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t = 0:pi/50:10%pi; n
plot3(sin(t),cos(t),t) w0l
xlabel('sin(t) ") s |

ylabel ('cos(t) ") 2

zlabel('t") i\::i |
grid on | >< —
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Mesh jsiws Gow 4w slajloges pa) (Sl dude Sl jgiws 51 Koo (S

figure(1); o *»,,,\
[¥,Y] = meshgrid(-10:.3:10); L I
R = sqrt(X.~2 + Y.~2) + 0.0001; 1y e

Z (sin(R) ./R)
mesh(Z)
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Easy-to-use function plotter = ezplot()

Easy-to-use 3-D mesh plotter = ezmesh ()

Easy-to-use 3-D parametric curve plotter = ezplot3 ()




:ezplot )euwd
= PIOL g%

ezplot('cos(x)+s1in(x)+s51inc(x) +sgrt(x) ")

cos(x)+sin(x)+sinc(x)+sqrt(x)
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:ezplot3 )euwd
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ezplot3('sin(t) ', 'cos(t)',"t", [0,6%pi])

x =sin(t), y = cos(t), z=t




:ezmesh )giw)

ezmesh ('sgrt(x"2 + y"2)+sin(x)+(cos(y))~2")

sqrt(x? + y?)+sin(x)+(cos(y))>
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x=0.01:0.001:0.1; !
subplot(2,1,1) 0.5
plot(x,sin(1./x)) 0
subplot (2,1, 2) 0.5
fplot('sin(1/x) "', [0.01 0.1])
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theta=0:pi/40:2%pi;
polar(theta, sin(2*theta))
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x=0:0.01:10; 081
area (¥, (sin(x))."2) 0.7
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f(t) = sin(t) + e V4t
—15<t<20
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figure (1)

t=-15:0.01:20;
f=sin(t)+exp(-0.2%t);
plot(t, £, '"LineWidth',3);
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g(t) = sin(t) cos(t) \/m

A(t) = sin(t/2) cos(®) YTl o = =20
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figure (2)

t=-20:0.01:20;
g=sin(t/2) .*cos (t) .*sgrt(abs(t)):
plot(t,q, 'LineWidth', 3)

hold on

h=sin(t) .*cos(t) .*sqgrt(abs(t));
plot(t,h, 'r', 'LineWidth', 3)

hold off
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cos(t + m) + Vsint)?

sin50 t
k(t) =( t+1

01 <t<10m
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figure (3)
t=0.1:0.01:10%p1i;

kl=s1n(50*t) ;
k2=t+1;

k3=cos (t+pi)
kd=sqgrt (sin(t)):
kb=abs(kl./k2);

k=(kb.*k3+kd) ."3;

plot (t,k, 'k', 'LineWidth', 2)
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( 3t+18 —10< t < -3
g(t) =< t? , —3<t<3
sin(t) +9 3<t<15
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figure (4)
t=-10:0.01:15;
[m,n]l=size (L) :;
for 1=1:n;
1f £(1)<-3
p(i)=3*t (i) +18;
elseif (t(1) <= 3) && (t(1) == -3)
p(i)=(t(1))"2;
else
p(il)=sin(t(1))+9;
end
end
plot (t,p, 'LineWidth', 3)
ylim([-12 12])
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figure (5)
a=[0 2 1 0];

b=[0 0 sqrt(3) 0];
plot(a,b, 'r', "linewidth', 3)
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figure (6)

x=[0 5 7 2.5 -2 0]:

y=[0 0 2 3.3 2 0];
plot(x,v, "'k', 'linewidth'", 3)

hold on
X2=[0 7 -2 5 2.5 0]:;

y2=[0 2 2 0 3.3 0];
plot (x2,vy2, 'k','linewidth', 3)

£fi1l (x2,v2,"'g")
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